EECS1022 Programming for Mobile Computing
(Winter 2021)

Q&A - Lectures

Monday, April 5
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Modifier and Type

double l/

static double \/ AO“'!M PI
p‘v*

The double value that is closer than any other to pi, the ratio of the circumference of a circle to its diameter.

Field and Description

The éouble valu?that is closer than any other to e, the base of the natural logarithms.
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size()
Returns the number of elements in this list.

A
boolean aadM ?ﬁ—
Appends the spec1ﬁ§;lement to —zhe end of this list.
A
void add(int index, (? elemdit o

Inserts the specified element at the specified position in this list.

boolean contains(Object o)
Returns true if this list contains the specified element.

{/ . %7& remove(int index)
Removes the element at the spemﬁed p051t10n 1n this list.

boolean v 'pd?i“‘#{emov # 9[\ O

emoves the first occurrence of the spe01ﬁed e m this list, if it
is pr sent. [’[f
s ®

ndexOf(ObJect 0)

@ L\ P() urns the index of the first occurrence of the specified element‘n?th@

llst or -1 if this list does not contain the element.

@B VWE %t(lnt index)

Returns the element at the specified position in this list.
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int

size()
Returns the number of elements in this list.

ataf PG

boolean
Appends the specified element to the end of this list.
void add(int index, E element)
Inserts the specified element at the specified position in this list.
boolean contains (Object o) lﬂ‘t<4—b? > {Z}t:
Returns true if this list contains the specified element. - =~
St
f remove(int index)
Removes the element at the specified position in this list. l - 1 s
rog St vewove (" flaA’) v
boolean remove (Object o) —_—
Removes thi st occurrence of the specified element from this list, if it (
is present. ¢ t r VEV’W‘Q P /
int

7 Yot

index0f (Objekt o) ,f\("[' ) Veﬂwe 2% \/

Returns the ind&x of the first occurrence of the specified element in this _f
list, or -1 if this liskdoes not contain the element. /{1

get(int index)

boze,

=

Returns the element at the specified position in this list.
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Use of ArrayList<String>

| import java.util.ArrayList;

2 fpublic class ArraylListTester

3 public static void main(String[] args) {

4 ArrayList<String> llSt - new ArrayList<String> ()

5 println(list.size( Y[’ woy A H m”%ﬁp’@m‘d\

6 println(list. contalns wAN) [AFCCK o M

7 println(list.indexOf ("A"));

8 Tdstaadd( M BM):

9 list.add("B");

10 println(list.contains("A")); println(list.contains("B")); println(list.contains("C"));
11 println(list.indexOf ("A") )y println(list.indexOf("B")); println(list.indexOf("C"));
12 distuadd(ly WEM):;

13 println(list.contains("A")); println(list.contains("B")); println(list.contains("C"));
14 println(list.indexOf("A")); println(list.indexOf("B")); println(list.indexOf("C"));
15 list.remove ("C");

16 println(list.contains("A")); println(list.contains("B")); println(list. contalns("C") )5
) |72 println(list.indexOf ("A")); println(list.indexOf("B")); println(list.indexOf("C"));
18

19 for(int i = 0; i < list.size(); 1 ++) {
20 println(list.get(1i));
21
22




